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QUESTION 1

Which of the following allows greatest flexibility in formatting but generally has the lowestinteractivity with the users?
A. Analysis

B. Query

C. Dashboards

D. Managed Reports

Correct Answer: D

QUESTION 2

Which of the following statements is true about the Waterfall Approach?

A. The five steps in the process are considered valid for Bl software development projects.

B. Each step is performed in sequence but you return to previous steps at specific points in thedevelopment cycle.

C. It is designed so that requirements that are not discovered in the Analysis step will cascadeout during the design
phase.

D. Project management tools no longer encourage the Waterfall Approach.

Correct Answer: A

QUESTION 3
Which of the following is correct regarding the processing of a PageDown high affinity request?

A. The request is routed to the same process that served up the originating low affinity request ifthe process is available
and if there is an available high affinity connection.

B. The request is given priority and is always processed by the same process that served up theoriginating low affinity
request.

C. The request is load-balanced and is sent to any available dispatcher in the system.
D. The request is automatically queued and is processed by the first available low affinityconnection in the system.

Correct Answer: A

QUESTION 4

A user makes the following request:"l need to see the number of flights throughout the year thatarrived or departed
more than 15 minutes early or late by origin and destination airport, by carrier,and by time of day. | want to see if the
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number of flights delayed is greater for large carriers orsmall carriers."Based on this request, the following metrics have
been identified: Flight count, andminutes early or late. Large carriers operate signifigantly more flights than small
carriers.

Which of the following additional metrics or calculations would provide the MOST value to the user?

A. Average number of flights 15 minutes early or late

B. Percentage of flights 15 minutes early or late

C. Average minutes early or late

D. Origin/Departure airport count

Correct Answer: B

QUESTION 5
Which of the following statements best describes the Iterative Approach of applicationdevelopment?

A. A prototype solution is developed after the initial user interviews. This prototype is then usedas a basis for refining
specific design requirements.

B. The design step is repeated multiple times before proceeding to the development step. Eachpass through the design
step further refines the eventual solution.

C. The solution is developed and delivered to the users. After approximately 2 weeks, the usersare interviewed for any
missing requirements and any new requirements form the basis for thenext iteration.

D. A prototype is created that addresses 80 to 90% of the business requirements. This isdemonstrated to the users and
their feedback is used to refine the prototype in subsequentiterations.

Correct Answer: D
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